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( -0.1 m)

M2EAREHELEEF 4 UNT 1ELE)9.62 g
401 AHE #@H4 (FCazv )9 96
283 H # Jll.uE4 (&< BRELE)10.52
90 % 2 F4 (& 1B R C)10.60
148 & R §}§4 (=119 779)10. 61
27 E R }mfﬁ4 (0)537‘%)1 7)11.10
17288 2 H4 (I & B £)11.29

( -1.9 m)

153 IL¥7MEA-% 4 (RR K1) —14)9.63 g
28 KAETFES (< BREELE)I. 9

MIBEIR BE4 (LbIEXE)10.21
68 B F4 EmMP1=7)10.37
NWEH EF4(E EH R C)10.72
206N H HT#E4 (BAmY > 2)10.80
121 % BE4 ELxFyRX)11.29

( +0.9 m)

210 AEF 4 (7ThT3—-Jr)9.46 ¢
122811 F1ZE 4 RF -93Y7 9%9)9. 81

NI H ¥$ﬁ4(b6‘(£&)10.44
BHE HEL(LEV21=7)10.52
310/v#k K2k 4 (B EENBS)10.94
61 KB FiF4(#EE A C)11.45
155 2 K 4 (ERFY—L)FEHE

-0.1 m)

209/ hVKEBHEAL4(S A A)I23 g
1268 EF4 Q6 -9 91N9.7 ¢
327/hR EBFIA4 (FF & A C)I.76
162HE+EBEKRL (ELRYF7)9.81
64 BFAKEEEL (& JE A C)10.20
99Ky EEAL4(EEY2=7)10.37
45%2H K£B4(i m a)



4> AN

] (TR |

1 218%R E=®,4(S A A)I.
42 RKRAK EH#HA4(i m a)d22(+0.2)
219/ KEBAHST4(S A A9
AMOEME %4 (LbIFEE).
210 AEF4 FHT3I-Jr)0.
2K ARHEF 4 ONT«EL)9.62(-0.1)
153 IE¥7 VA%V 4 (RR K1) —L)
12688 ZF4 QF -939° 99)0.

O J O O~ Wi

iR B

+1.3 m)

(

1[ 3]
2[ 5]
3[ 6]
41 4]
5[ 8]
6[ 2]
10 7]
8[ 1]

29/ NKERHZ4(S A A9
218TER EBE4(S A A9 11
M2RAK EH#HA4(i m a)d 24
MOEHRA B¥BF=4(LbIIEE)9 34
210 AEF 4 (FThT3—-Jr)9.46
153 IL47 MIA-HY 4 (RR K1) —L4)9.47
M2 ARBEEEF 4 UNT1EL)9. 61
12688 2F4 QK -9V 99)9. 61

22(+0.2)

23(-0.1)
43 (+0. 4)
46 (+0. 9)

9.63(-1.9)
71(=0.1)



TF 4956 0mH REEA4R)

[148] ( -0.9 m)
102] 1128 KHEEF4 UNTaEL)11.76
U BE LI (#EE A C)11.94
3[ 6] 3011£7% 3F1k4 (KMCRELY)12.36
41 3] M2+ EBERE 4 (L ZI(EE)12.47
a)l2.89
6[ 7] 310/v#k k2K 4 (B LEENBS) 14. 71
B OBE4 (RRERFY—L4)16.04

(3% (  -0.1 m)
B2 4 (KMCELY)11.69
H %&=4(LZ(EE)12.08
a)l12. 41
XK BEX4 (I &g EE E)12.97
L+ FEE4ERFI—L)14.36
H B4 (& H R C)14.57

20 4] 62%

5[ 5] 4491%

70 8] 154X

1[ 4] 303
2[ 3] 410%%
3[ 5] 441 =F
40 7] 170 5%
5[ 6] 152%
6[2] 89X

43 O
e 3

448 +
327 1N
123 9 )1l
303 & &
112 AHE
62 % 42
96 5 JII
302 4R 3
410 & |

—_

O O J O Gl Wi

R OEMLI(I m

# BEA(G m

FIFL4 (i m
HWFI4 (P AC
Fix 4 QE =93y 99
4 (KMCRELY
F4 (/\-r»rB*J:

/ﬁ§=4 (& &
mE4 (J:E’é/.‘l. 7
BWZE4 (KMCIELY
BE4(LbZIFE

a)
)
)
)
)
C)
)
)
)

.07(+1.9)
.23(+1.4)

.33(+1. 4)
.69(-0.1
.16(-0.9
.94(-0.9
L97(+1.9
.08(+1.4

1

)
)
)
)
)
.08(-0.1)

(2%8]
1[ 3]
20 7]
3[ 6]
41 4]
5[ 5]
[ 2]

(4%8]
1[ 4]
2[ 5]
3L 7]
41 6]
5[ 3]
6[ 2]

( +1.4 m)

RTNR EF 4 (FF o A C)f-23
12811 F&E4 RE -939 99)11.33
3024 F HZ=4 (KMCRELY)12.08
6O F ZEF4 (R E A C)12.48
M3IWMHF EF4(LbIIXE)12.68
155 2K €4 (RRF)—L)EHE

( +1.9 m)

MABE L FHHEA(G m a)ll-07
Bkl REFEA(LEBD2=7)11.97
3054 & EH4 (KMCELY)12.63
ATBEMR BIEA4 (L IIEXE)12.96
153 TE¥7MRA-%v 4 (RE F1)—L4)13.30
1MEB &4 (I &g pE £)16.12



¥ 54100m FEAMERX A LL—X)

(1#8]
1[ 6]
2[ 4]
3[ 2]
41 1]
5[ 3]
6 7]
70 8]
[ 5]

(3#8]
1[ 3]
20 7]
3[ 8]
41 6]
5[ 4]
6[ 1]
10 2]
8[ 5]

(548]
1[ 5]
20 7]
3[ 2]
41 4]
5[ 1]
6[ 8]
10 6]
8[ 3]

(7#8]
1[ 8]
2[ 6]
3[ 3]
41 4]
5[ 2]
6 7]
71 5]
8[ 1]

(9#8]
1[ 3]
2[ 2]
3[ 8]
41 7]
5[ 6]
6[ 5]
[ 4]

( +1.0 m)

T2/ A MEFED (B 5 A C)14.64 ¢

22385 K mE/DH(S A A)14.80
422% X  E5(L5ZIXE)15.98
168 £ )il & &FS5 (JIl U fE £)16.04

8HMO MWESL (l,\/uIZf):L 7)16.63
341 % 1 ?ES(%)??RA 0)17.55
NASEO CH5 UNT 1 L) RG

( -0.5 m)

S1TEZE Z 5 (F & A C)14.26
225K EX&H(S A A)14.96
428 1N B BESLH (L Z(X&)15.58
173 B #H*ED5S EEEY ~L)15.67
367 £ 1L ﬂ%EES(#’jtJ r. )16.66
10EE BEL (LWAEY21=7)16. 81
79 i B E«:S (£ R C)16.88
1M6%h ImED WNT 0 EL)16.89

( -0.4 m)

1774 B 25 BEEEY ML
9B EF5(WFH AC
400BFr F45FCasyy
252 E Z725 (GBETJAC
B4ERE HELE B R C
(REE=R::| 1%&5(%114#1;(
1208 EE5 WVAEY1z7
26 - ZA5(LblIlde)t

( -1.4 m)
M5+ HE RES (LZEXE)
254 IMIIBUVOA5 GEEFTJAC
I@EF BE 5(*5&5&%&2
321 jw\ﬁ':t/ﬂ‘is (ff & A C
86/hith #ABKS (B R C
134#:# XMES (EFXTH S
455% B fEDS (35%‘39»
200 @ Fif&b5 BA#HY S D)1

( +0.3 m)
MIER BZE5(LbIIEE)
207 ty50uFEE 17 5 (FHATI—Jr)1
88FIER #ZE5 (2 ™ R C)1
26HE E£E5 CEHJAC)I
)1
)
)

14.79
15. 01
15.72
16.19
6.27
6. 64
16.73
6. 89

\/\/\/\./\/\./\/\./

5.16
15.40
6.19
6. 22
16.81
6. 96
1.34
1.72

\/\/\/\/\/\/\/\/

14.83

5.79

6.57

6. 61

BHF HES EMP1=7)16.80
136 FEEMBZS EFXTH S)17.56
SWREE EZTL5 (FF b A C)EHE

(2%8]
1[ 8]
2[ 5]
3L 7]
41 1]
5[ 3]
6[ 2]
11 6]
8[ 4]

(4%8]
1[ 8]
2[ 3]
3L 7]
41 4]
5[ 1]
6[ 2]
7[ 5]
[ 6]

(648]
1[ 5]
2[ 1]
3[ 8]
41 2]
5[ 6]
6[ 4]
[ 7]
[ 3]

(8#8]
1[ 8]
2[ 3]
3[ 2]
41 5]
5[ 7]
6[ 4]
[ 6]

[1048]) (
48 F5FEHY 5 (FF B A C)14.
=435 7)15.
£&5 (LEYVaz=7)15.
5 (2K bREL)1S.
W5 (FHhT3I—-Jr)15.
EHEL (L5 IFEE)S.
ZELS5(F B S C)ls

1[ 8]
20 17]
3[ 5]
41 4]
5[ 6]
6[ 2]
11 3]

( +0.5 m)

T3ENESLCH5 MR E A C)14.
2240 FimE5(S A A)1b.
I ILARTALZEDL (HFEY1=7)15.

95 EES (WAIEY1=7)16.
313k A AL (FF 2 A C)16.
169 =& F1ED5 (Il & B L)16.
1M5F M #ES UNTaEL)1T.
423/ B BS5 (L ZIEE)T.

( -0.1 m)

251 475kL €775 GE#H J A C)15.
1) L) 15.
4257 B M5 (Lo ZIXE)S.
RELRS (F2diJ r. )15
N1EH ®BIW5 UNT 0 EL)16.
#&5 (WAIEY1=7)16.
83 =FEJEJ%$/2;$E5 (£ H R C)1T.
Z5 (FF & A C)Ri5

176 % 1L #E5 BEAR
368 /NE
ne H

I8=F ME
( -0.6 m)

M4 3F ELH(LbIIEE) 14
F15 (Bt 5 J)15.
25205 Y 5 (FIHETHREER) 16.
FTES5 (FF & A C)16.

200658 ¥

320 [T EB
253 E 1&TES GEFTJ AC)1].
453 1 R 11 5(£§‘37)b)17
120"‘5&!]
8=

( -1.4 m)
416 §5 K
203 /v
37 & I
322 ¥ #
g1k H
259 & 5A
135F % BAHI 5 (EFX+H S)

+1.4 m)

147 1M B
101 1 By
2 CHFETE
208 ¥0 H
418 £ B
512 H

IEFESL (k

BF5(LbIIEE)14
B2 TES (Ao 5 J)15.
E#&5 (EMY1=7)15.
XA5 (& A C)l6.
F1F5(& & R C)16.
BMES CE#HJIACT

89
15
24
13
16
95
22
34

11
2]
35
96
02
10
67

12
12
13
39
22
99

iS5 (EH® R C)EHE

18
38
85
07
97
17

61
02
24
35
317
12
21



(11#8] ¢ 0.3 m) (12481 (  +1.0 m)

102] 8& & %5 (#&EE A C)15.10 1[6] 221 K4 &HHX5(S A A)1422q
20 3] 419 F #HASL (L lIF&)15.12 2071 296 A% k=25 (KMCELY)14.58 q
3[ 4] 3257/ =Z ETES (FF # A C)15.78 3[3] 3304k =5 (WEY1=7)15.04
4071 22% 0 KRES (773X vR)15.84 405] 4202H EF5(LbI(F&)15.35
5[ 6] 103FB &Hx5 (LEY21=7)17.30 508] 59&fk WH#Hb@EE A C)156.53
6[8] 151/MNEEL55 (ERKMJ—L)18.11 6[ 4] 104Z%BEMERS (LEY2127)16.38

[ 5] 2807 E HiAS (< bfEL)RIF [ 2] 166 /NEFEEER 5 (Il I fE E) FEte

[13%8] (  +1.2 m)

102] 10579z0 455 (EEBYa1=7)14.52 g
2[ 6] 60E&E EE5(HEE A C)14.68 g
3[3] 222 HYH5(S A A)I503
A[ 8] 42141l 2@ 5 (L5 ZIEE)15.67
5[ 5] 167/n#k fE#&5 (Il & BE £)15.70
6[ 4] 340/v¥2 EHEDL FHF K A C)15.85
T[7] 308iEi8 MmARS5 (BEENBS)17.45

4> O
s 3

1 221 K% BHELH(S A A)14.22(+1.0)
2 JTEE ZIS (FF $ A C)14.26(-0.5)
3 10579z0 #5355 (EBYV2=7)14.52(+1.2)
4 296 % FEE5 (KMCRELEY)14.58(+1.0)
5 3242FHEHYS (BFFF A C)14.61(+1.4)
6 72|_12|K METE 5 (B 18 A C)14.64(+1.0)
7 60;E2 B£5 (I & C)14.68(+1.2)
8 414F H ES(LB_IJZ&) . 12(=0. 6)
R 5

( +1.2 m)

1[6] B17TEZEY =I5 (FF &= A C)13.99
2[ 5] 221K FE5(S A A)14.18
3[ 4] 1057vz0 #5355 (LEY2=7)14.43
47 1] M4 F EDH(LdIIEE)14.51
5[ 7] 32d5FH&HY 5 (FF A C)14.66
6[ 2] 60;%#& E&5 (K A C)14.68
103] 296% X(KE5 (KMCB*J:?)M. 70
8[ 8] T2HMA HMETES MR B A C)14.79



ZF 5480 0m RE (3H)

(1#8]

1[ 4]
2[10]
3[ 2]
4[12]
5[14]
6 [16]
7[15]
8[ 7]
9[11]
10[ 5]
11 [13]
121 8]
13[ 6]

[ 9]

[ 3]

M1 & 15
293 AR &P
257 # £
UTER
MEE BE

421 4% )1l
416 85 K
367 4 1L
37 =T F
424 11\ 3B
10E % 13
1605 E Z#5 (BLtRIF7) EiE
25348 1&TED (E#H J A C)EE

(3#H]

1[14]
2 [13]
3[ 6]
41 2]
5[ 1]
6 [12]
1071
8[ 3]
9[ 9]
10 [ 4]
11 [15]
12 [10]
13[ 8]
14 [11]

[ 5]

212% 0 KXES5(7737FvR)
426 EA A5 (L)
571wk EXH5HEE A C)
3604 M #MES (FAY127)
454 % TEF 5 (HEELER)
M6 HIE HAMKDL BT K A C)
420 EF5(LoIIFEL)
215%F ##5(S A A)
3NEHE FEHRL HWEV1ZT)
256BH FEHFEL CGEFHJIAC)
259452 HES GEHJAC)
423/ B AL (L&)
IREN:EEEREG SENESN
1974A Kk & x5 (Ao 5 J)3:16.
A5+ E FRESL (Lo IIXE)EE

/AA
e 3

1

O J O OB~ Wi

17

. 54
.30
.31

215 RIEF D ER 5 (F75V v R)% 28

134
135
137
:37. 85
139
139
140

A25% @B M5 (LsZEE
22% 0 XxES5H (7T73¥F9vRX
NTEF HBMWS WNTaEL
255 @ EEDL GEHJIAC
268 -ZA5(LbZIEeE
293 AR &8 ﬁ“m5 (KMCRELY
M5 )1+ FELEFH KA C

.18
.59
.93

C o v uoelooell

215 hIEF &R 5 (73 HwR) % 28
KAS UNT 4 BEL)2:37.
BRZE5 (KMCRELY)2:39.
ZEEDL GEHJIAC)2:43.
BEDL F K A C)2:45,
5 (F K A C)2:46.
452 BEHEZEMS FEEIS/)2:49.
BE5 (L5 IIEE)2:50.
BF5(LbIIEE)2:58.
SHE5 @#FiAiJdr. )3:04.
E#&5 EMY1=7)3:04.
BELH(LBZIEE)S:07.
5 (WAlEYa1z27)3:08.

:35.
:39.
143.
:46.
47.
47.
:51.
:51.
:58.
:58.

:10.

13.

14

17

31
99
34
40
44
50
00
64
15
92
89
38

30
18
42
2]
2]
63
38
A
04
97
19
86
89
22

[248])
1[10]
2[ 3]
3[ 9]
413]
5[15]
6 [14]
7L 5]
8[ 1]
9[11]
10[ 2]
(AR
121 8]
13[ 6]
14 [12]

[ 4]

425% B M5 (LolEé)2:
EES(BHJUAC)2:

255 [if]
345 JII# EEDL G K A C)2
359 IUAKTIRE S (ETE?:I. 7)2
216 % i1 Z x5 (777*/7\)2
BHA BEFEDL (EMY1=T7)2
258 &
202 A €
NIE ¥
1M19%E H

BMAES (LbIEFE)S
BIKS (ElLxvX)3
174 K #4 E%5($ﬁ?ﬁi’§f') kL) 3
4282 A EL5(LblIEXE)3
22408 EF5 VLWAEY1Z7)3
368 /NEIREA D (i J r.

tb# s CGE#HJ AC)2:
E®/5 BAmY 3 7)2:

34.
317.
:40.
44,
144,
:45.
:46.
97.
99.
:01.
:02.
:02.
- 06.
:06.
) EHE

54
85
93
01
82
317
50
80
57
68
34
35
32
57



ZF 548 0mH REEA4R)

(1#8]
1[ 4]
20 7]
3[ 5]
41 3]
5[ 6]

(3#8]
1[0 7]
2[ 5]
3[ 4]
41 3]
[ 6]

D AN
e 3

1 293fRER RRE 5 (KMCRELY

2HILUHOHS5 (EH95SC
296 A B
10278 B
339 Ly 1%
297 & )il
338 E O
226 5 §

O J O O~ WwN

( +1.0 m)

293fREB RRZ 5 (KMCRELY)]S3- 83
2 FIUBHPH5 (35S C)13.94

339 1L A5 FH K A C)14.58

220H K EH5 EAMY S I)19.61

308N MRAKS5 (BEENBS)19.87

( 0.0 m)

1027 E &F5 (LEV21=7)14.40
297 )l 25 (KMCRELY)14.78
SN KAREES (Fh A C)16.73
2638 = x5 (CEHHJIAC)18.86
18 BES5(i m  a)ZEE

FEE5(KMCELY
®F5(LBY21=7
MES@FH KAC
%5 (KMCRELY
XESFEKRKAC
ZEL(S A A

éR3. 83(+1.0)

13.94(+1.0
13.97(+1.8
14.40( 0.0
14.58(+1.0
14.78( 0.0
15.07(+1.1
15.24(+1.8

[248]
1] 3]
2[ 6]
3[ 5]
4T 4]
5[ 7]

(4%8]
1[ 4]
2[ 6]
3L 7]
41 3]
5[ 5]

( +1.8 m)
296 £ ¥
226 5§
320 Ba] &R
84 & 2
MTE B
( +1.1 m)
338 E O
281 & JII
17588 1O
307 1k &
454 1t F#

kE5 (KMCELY)13.
Z#ES5(S A A)15.
HTE5 (FF & A C)Ib.
#ELH(&E B R C)IT.

EH(LbZIEE)18.

XR5@E K A C)Ib.
BES (< bEEL)15.

B 5 (1BEY ML1T.
REDL (BEEBHNBS) 1T
HAERDL EEIZIMLI

97
24
51
84
24

07
98
00
10
47



TF 6FE100m FEE(AERZ A LL—X)

(1#8]
1[ 8]
2[ 4]
3[ 6]
41 3]
5[ 5]
6[ 2]
[ 7]
[ 1]

(3#8]
1[ 6]
20 7]
3[ 4]
41 5]
5[ 8]
6[ 1]
10 2]
[ 3]

(548]
1[ 4]
2[ 1]
3[ 2]
41 8]
5071
6[ 3]
70 5]
8[ 6]

(7#8]
1[ 1]
2[ 5]
3[ 3]
40 7]
5[ 4]
6[ 6]
10 2]
8[ 8]

(9#8]
1[ 6]
2[ 1]
3[ 3]
41 8]
5[ 2]
6[ 5]
107]
8[ 4]

( -0.9 m)
372 4THEFRFINN 6 (M¥ERE L C)14.76
14 RFH L 5H 6 (R EER) 15. 10
ID/NhES %6 HR#HE A C)16.07
194 /v 855 6 (Bt 5 7)16.07
143k #Hk6 (E=NH357)16.37
268 B MEXK6 (&< HPEL)16. 81
R2FIL FNE6 HEELLEE) EiE
35KFE w6 (MiEkELC)EHE
( -1.3 m)

40mi EE6 EMP1=7)14.58
3124c#r BH6 (FF & A C)14.61
JM4F8 HF6 (MiEELC)15.14
16 2+ TE#C 6 (RT#ETIRERH) 15.35
196 1£ % F %6 (BA#Y 5 7J)15.45
150 KB %6 RRKY—L)15.72
75#R MHEG6 (£ H R C)16.55
978 EF FH6 (MiEELC)EE
( -0.4 m)

221 EME6(S A A)I3T72
399 M EF6 (FCaZv>)14.55
18FE % ERIEE 6 (RIAEThE1H) 14. 68
JICEEIR BZ6 (MHERELC)14.73
BHE BEE6 (EMP1=7)15.06
BIlLE BEXE6(EH R C)16.14
31514 R #A&HFE6 (FF = A C)16.22
BI#FIN ¥%E6(ELRY5T)

( -0.5 m)
107k )l EFE6 (LEV2=7
4FILBBEKRE (S A A
BER £EF6 (miEkELC
328 MEILMIAR 6 EEDLZT
2048 )1l K6 (RIETHREER
34Kt BAE6(i m a
1590 % FFE6(EXRIFT
A5KHE #HE6EMY1z7
( -25 m)
26 KB/HMIFO6(S A A
BTRXKK H#F6(i m a
1791 MBEE 6 (BB ML
127% % FEE6 RF -3V 99
AL BAEG6 A.F.T.C.
BTSHEALFO6 HEELC
22 B5HEA 1 H 6 (RIETRER
JBSEHEUVMND 6 (FAYD1=T

1
1
1
18.09

14.03
14.28
14.87
14. 88
15. 21
15.48
16. 78
17.29

14.49
14. 63
14.97
15.05
15.58
15. 80
16. 01
16.53

— — — — — —

(2%8]
1[ 8]
2[ 6]
3[ 5]
40 7]
5[ 3]
6[ 1]
10 2]
8[ 4]

(4%8]
1[ 4]
20 7]
3[ 8]
41 3]
5[ 5]
6[ 1]
11 6]
8[ 2]

(648]
1[ 5]
2[ 6]
3[ 8]
40 7]
5[ 3]
6[ 1]
10 2]
[ 4]

(8#8]
1[ 3]
20 7]
3[ 2]
41 4]
5[ 5]
6[ 8]
10 1]
[ 6]

(1048] (

1[ 5]
2[ 6]
3[ 1]
41 4]
5[ 3]
[ 8]
[ 7]
[ 2]

( -0.4 m)

%ty 1278% 6 (B 48 A C)13.94 &

5@ R 42 A0 6 (RTFET RET) 14. 36
149FK 726 RREKF—L)14.62
9 KRAFIEFO6 (EMP1=7)14.68
SIBFHHRAF 6 (ntEke L C)14.68
19568 36 (Bt 3 7J)15.39
26008 P56 (=< bfEL)16.02
396 KA = < 5 6 (fntEkE L C)16.50

( -1.6 m)
1€ & =2B6(S A A)I3TI
1T B &6 (RiEmkER) 14. 7
M{FHE BKiL6 EmMPa=7)15.19
3754 % E6 (RtEkEL C)15.51
398 ;B EMABE < 6 (FCa S >)15.68
156 \JIIEEF 6 (ETtRY57)16.74
3148 & &6 (& A C)17.63
I6hUERE6(EH R C)I11.717

( -1.0 m)

1912 HM™Y 6 (i m a)l3. 95
1068k EHE6 (LEY1=7)14.58
316A {MVERG6 (FF & A C)15.12
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